
mi97-11/ Page 1/2 
 

 

MAINTENANCE 
INFORMATION 

 
 
 

mi97-11 

DATE: Nov. 1997 SECTION: 22   
SUBJECT: MAINTENANCE OF EVAPORATOR MOTOR 

 
Application:  

Model VIN 

 
All XL vehicle series with 

large A/C 
Model Year:  1995-1996 

From 2PCE33492T1025885 up to 2PCL33496V1026175 incl. 

All H3 vehicle series 
Model Year:  1995- 1996 

From 2PCH33491T1011506 up to 2PCH33496V1011858 incl. 

DESCRIPTION 

If the evaporator motor is found to be defective, it may not be necessary to replace it in its entirety. Install 
one of the two insulator kits mentioned below and replace the ball bearings. 

Note: If 5/16’’ (8mm) bolts are used, use kit #453088.  If 3/8’’ (9.5mm) bolts are used, use kit #453121. 

 

Kit #453088 includes the following parts (for 5/16’’ (8mm) bolts). 

Part No Description Qty 

452896 Electrical Insulator 1 

500441 Flat washer, z.p. 4 

500476 Lock washer, split 4 

502723 Flat washer ,nylon 4 

504503 Bushing, nylon 4 

FI-96010 Instruction Sheet 1 

IS-96010 Feuille d'instructions 1 

Note: Material can be obtained through regular channels. 

 

 

 

Kit #453121 includes the following parts (for 3/8’’(9.5mm) bolts). 



mi97-11/ Page 2/2 
 

Part No. Description Qty 

452896 Electrical Insulator 1 

5001242 Bushing 4 

500220 Washer, zp 4 

500546 Washer, Split lock 4 

IS-96010 Instruction Sheet 1 

FI-96010 Feuille d'instructions 1 

 

You have to order two new bearings.  The Prévost number for L.H. ball bearing is #562520.  The Prévost 
number for the R.H. ball bearing is #561210. 

 

Check if evaporator motor brushes are worn out.  If they have the same height as  the brush-holder, they 
must be replaced (Prévost #561202, Qty: 4). 


